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Hebden : Chemistry 11
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18. The neutralization equation is: HCl + NaOH —> NaCl + H20.
moles of NaOH = 0.318 ™% x 0.0250 L = 7.95 x 10~> mol = moles HCI
L o€
n  0.00795 mol Iml ‘
volumeof HCl= — = —— ——— 40.0318L |, —m8 —— = l. m
¢ ~ 0.250 mol/L D 11550 \w
19. (a) moles of CI” = 0.0148 mT°' X 0.0154 L = 2,279 x 10~ mol
1 mol Hg?' '
moles of Hg2" = 2.279 x 107 mol CI" x ———9— = 1.140 x 10~ mol
2 mol CI
= moles HgCly (for second part of problem)
2+. N 1.140 x 107* mol I’/—/;;\
Ho*q='= = 4.56x10 ° M
Mo~ 1=y 0.0250 L Hg
(b) mass of HgClp = 1.140 x 10~ molx 317—1;%2 0.0310g HoQ\
20. (a) The neutralization reaction is: Ca(OH)2 + 2 HCI —> CaClz + 2 H20.
moles of HCI = 0.0156 mTO' x 0.0235 L = 3.666 x 10~ mol
1 mol Ca(OH
moles of Ca(OH)z = 3.666 x 10~ mol HCl x —02L G2 _ 4 833 4 10 mol
2 mol HCI
n  1.833 x 10 mol \0 j
Ca(OH)7] = — = =10.0183 M M
[Ca(OH)] = ¢ T Ca (oM
(b) mass of Ca(OH)2 = 0.01833 mTO' x 0.2500 L x 74 i g 0.340g C QLC)H)Q
21. (a) moles of H02 = 1.24 TI x 0.00200 L = 2.48 x 10" mol
} 2 MnO;
moles of MnO; = 2.48 x 10~ H,0, x —% 9.92 x 10~ mol ol
. n 9.92 x 10 mol
volume of MnO; = — = \ 0.0mL M \
4= ¢ T 70.0496 mol/L &J0-Om WOy
5 mol O 2.4YL O
(b) volume of O2 = 9.92 x 10~ mol MnOj; x LL_ X 2 9 ~ \M'_L 55.b ML
2 mol MnO; 1 mol O, iy B 103L 0
mol ol
22. (a) moles of NaOH = 0.853 A x 0.0438 L = 0.03736 mol
1 mol H.P
moles of H3PO4 = 0.03736 mol NaOH x Tl MEP0, = 0.01868 mol
2 mol NaOH
n  0.01868 mol
H3PO -—=———\87MH \
[H3PO4] 0.00100 L 3Y0y

| L mol  98.0 g 30 w
(b) density = 18.68 == x —— stm \*\73’\?0\,\

mo
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